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. The numerator in the fraction -3 is
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. Find the equivalent fraction of s with numerator95
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. The equivalent fraction of-8 is
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1
. Convert2-5 to improper fraction
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. Which of the following is true?

(i) -3<-1 (i) > >-8 (iii) -3>-3 (iv) 3 <-9 (v) 2
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10. What fraction of the figure is shaded?
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11. What fraction of the figure is shaded?
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12. What fraction of the figure is shaded?
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14. Convert-5 to mixed fraction
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16. Which of the following is true?
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17. ldentify theimproperfraction
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The descending order of
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The ascending order of
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22. Find the missing value in20 X =203
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153
23. The simplest form of the fraction 323 is
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24. Reduce the fraction
384
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Assignment Key
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